Coded Riddle Puzzles - Easy

1=M  12=S  19=H  23=X
16=U  7=D 5-C  9=N
KEY 22=7 4=Y 21=Q 20=R
14=G  18=B  25=0  11=T
2=W  26=L 3=)  10=A
17=E 13=K 15=P
8=V 24=| 6=F
What kind of lighting did Noah use for the ark?

6-26-25-25-7-26-24-14-19-11-12

What do you call a fossil that doesn't ever want to work?
26-10-22-4 18-25-9-17-12

What do you get when you cross a dinosaur with fireworks?
7-24-9-25-1-24-11-17

What do you get if you cross a pig with a dinosaur?
3-16-20-10-12-12-24-5 15-25-20-13

Where should a monkey go when he loses his tail?
11-25 10 20-17-11-10-24-26-17-20
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